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1~12H 1~12H 4 % [1~12H1~128 4 | F |1~128 1~128 FAvM1~12H 1~12H A B @ = |1~12H 1~12 A B =X
i ¥ #%| 568,104 614,231| -46,127| -7.5| 264,485 279,185 -14,700| -5.3 46.6 45.5 1.1| 175,041 182,582 -7,541| -4.1| 14,818 17,466 —2,648| —15.2
X o] ) 4,149 4,444 -295| -6.6 4,007 4,268 -261| -6.1 96.6 96.0 0.6 4,093 4,291 -198| -4.6 410 522 -112| -21.5
HH e 3B 49,717 51,829 2,112 -4.1| 43,291 45,764 -2,473 5.4 87.1 88.31 —1.2| 45,724 48,108 -2,384| -5.0 2,815 3,060 -245| 8.0
%5 s 38| 381,769 417,291 -35,522| -8.5| 161,016 170,687 -9,671  -5.7 42.2 40.9 1.3 84,360 88,464 -4,104| -4.6 7,421 9,222, -1,801| -19.5
0 BE 8| 36,663 34,065 2,598 7.6 19,154 18,153 1,001 5.5 52.2 53.3| -1.1| 12,483 10,547 1,936, 18.4 923 731 192] 26.3
JEL i ) 7,880 7,723 157 2.0 6,738 6,549 189 2.9 85.5 84.8 0.7 5,422 5,202 220 4.2 469 400 69 17.3
- > f] 87,926 98,879 -10,953| —-11.1| 30,279 33,764 -3,485 -10.3 34.4 34.1 0.3] 22,959 25,970 -3,011 -11.6 2,780 3,531 =751 -21.3
A = Bl 11,181 11,726 -545| -4.6 5,808 6,104 -296| -4.8 51.9 52.1| -0.2 4,036 4,206 -170| -4.0 320 450 -130| -28.9
X = ) 108 83 25 30.1 105 83 22 26.5 97.2) 100.0/ -2.8 92 87 5 5.7 6 13 -7 —-53.8
HH & ) 1,081 1,095 -14] -1.3 918 969 -51| -b.3 84.9 88.5) 3.6 920 977 -57| 5.8 69 80 -11] -13.8
%3 s ) 6,997 7,476 -479| -6.4 3,567 3,708 -141| -3.8 51.0 49.6 1.4 2,074 2,153 =79 -3.7 164 221 -57| -25.8
0 (i3 ) 831 710 121) 17.0 361 397 -36] 9.1 43.4 55.9| -12.5 267 228 39 17.1 12 14 -2 —-14.3
JE i ) 142 147 -5 -34 137 126 11 8.7 96.5 85.7, 10.8 111 107 4 3.7 10 9 1 111
- (2] 11 2,022 2,215 -193| 8.7 720 821 -101| -12.3 35.6 37.1| -1.5 572 654 -82| —-12.5 59 113 -54| -47.8
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60.000 4 90% 7,000 90% 16,000 90%
4 80% 80% 80%
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#e 1505 (| %% 4,000 afﬁ #e 1 50k
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REITE USSR 4,662 5,260 -598 -11.4| 1,172 1,380 208 -15.1f 25.1 26.2] -1.1 556 626 =70/ -11.2 83 131 -48 -36.6
H @ ®H & 2,076 2,503 427 -17.1 203 274 =711 -25.9 9.8 10.9 -1.1 93 117 =241 -20.5 40 57 -17/-29.8
HOE kW 375 418 -43 -10.3 263 132 131 99.21 70.1 31.6 38.5 29 46 =17 -37.0 1 2 -1/ -50.0
& W % 1,315 1,398 -83] -5.9 199 208 -9 -4.3| 15.1 14.9 0.2 129 121 8 6.6 8 11 -3/ -27.3
= AN R & 6 5 11 20.0 6 7 -1/ -14.3]1100.0 140.0 -40.0 5 12 -7/ —58.3 1 -1/-100.0
= AN & & 549 561 -12| -2.1 231 481 -2501 -52.01 42.1| 85.7 -43.6 106 130 -24| -18.5 8 12 -4 -33.3
F B &2 A 221 260 -39 -15.0 150 172 =22 —12.8] 67.9 66.2 1.7 103 122 -19 -15.6 17 39 -22 —56.4
i v 33 28 5 17.9 34 26 8/ 30.8[103.0/ 92.9 10.1 28 21 7 33.3 4 3 1 33.3
i oA A ke 87 87 0 0.0 86 80 6 7.5 98.9 92.0 6.9 63 57 6 10.5 5 6 -1/ -16.7
CIRAGIE E2TFOR)
Z= X B 197 206 -9 4.4 75 181 -106| -58.6f 38.1 87.9 -49.8 34 53 -19| -35.8 6 8 -2/ -25.0
2 A I 66 80 =14 -17.5 16 99 -83 —83.8] 24.2 123.8 -99.6 2 9 =7 -77.8
JE Z= = 31 24 7 29.2 12 12 0 0.0 38.7/ 50.0 —-11.3 4 5 -1/ -20.0
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JHvE L ke F11,181111,7261 545 -4.6] 5,808 6,104 296/ -4.8] 51.9 52.11 -0.2] 4,036 4,206 -170/ -4.0

T 206 177 29 16.4 201 170 31 18.2] 97.6. 96.0 1.6 169 149 200 13.4

mOE OO U 579 594 -15] -2.5 279 507 228 -45.01 48.2/ 85.4 -37.2 120 148 -28/ —18.9

[X] o= 30 108 83 25 30.1 105 83 22 26.5] 97.2/ 100.0 -2.8 92 87 B 5.7
PN 26 17 9 52.9 28 18 10 55.6| 107.7 105.9 1.8 25 18 7 38.9
TR 22 20 2 10.0 19 21 -2/ —9.5| 86.4| 105.0, -18.6 19 33 -14| -42.4

(EPN7AS 6 5 1 20.0 6 7 -1 —14.3[ 100.0/ 140.0  —-40.0 5 12 -7/ -58.3
& iR 3 5 -2 —40.0 2 4 -2/ -50.0f 66.7/ 80.0 -13.3 2 7 -5 -71.4
FDfth, 13 10 3 30.0 11 10 1. 10.0f 84.6/ 100.0 -15.4 12 14 -2 -14.3
ek 27 18 9 50.0 24 18 6 33.3] 88.9 100.0] —11.1 20 15 5/ 33.3
i) AT A 33 28 5 17.9 34 26 8 30.8] 103.0 92.9 10.1 28 21 7 33.3

L 2= 0] 1,081 1,095 =4l =13 918 969 —51] —5.3] 84.9/ 88.5/ -3.6 920 977 =571 =58
K#sEfRES
AT 587 534 53 9.9 497 476 21 4.4 84.7 89.1 4.4 459 468 -9 -1.9
G EERSE 352 441 -89 —20.2 298 393 -95 —24.2 84.7 89.1 4.4 345 419 =74 -17.7
il 110 87 23 26.4 95 70 25 35.7 86.4/ 80.5 5.9 82 53 29 54.7
2L 32 33 -1 -3.0 28 30 -2 —6.7] 87.5 90.9 -3.4 34 37 -3 8.1

5 % L) 6,997 7,476 479 -6.4] 3,567 3,708 -141| -3.8] 51.0 49.6 1.4] 2,074 2,153 =79 -3.7
IEIN A 549 561 =12 =%.1 231 481 —250| -52.0] 42.1] 85.7| —43.6 106 130 —24| -18.5

ZeXH 197 206 -9 4.4 75 181 -106| -58.6] 38.1 87.9 -49.8 34 53 -19| -35.8
DA 66 80 -14| -17.5 16 99 —-83] —83.8] 24.2] 123.8 -99.6 2 9 -7 -77.8
JEZEX 31 24 7 29.2 12 12 0 0.0 38.7, 50.00 -11.3 4 5 -11 -20.0
A JERRY 6 12 -6/ —50.0 5 5 0 0.0 83.3] 41.7 41.6 2 3 -1] -33.3
L 2 3 -1 -33.3 1 -1/-100.0 0.0, 33.3 -33.3
e L 10 1 9 900.0 4 4 —| 40.0 0. 40.0
FEMET L 1 -1/-100.0 — — 1 -1/-100.0
FHHTRL 39 46 -7/ —-15.2 16 48 -32) —66.7 41.00 104.3 -63.3 7 11 -4 -36.4
HERL 44 67 -23] —34.3 32 56 —241 429 72.7 83.6. -10.9 19 5 14| 280.0
HRERL 4 10 -6/ —60.0 3 3 0 0.0 75.0/ 30.00 45.0 1 2 -1/ -50.0
BEFL 45 35 10 28.6 32 25 7 28.0 71.1 71.4 -0.3 14 19 -5 —26.3
ZOMURALFE 105 77 28 36.4 36 50 -14] -28.01 34.3] 64.9 -30.6 23 22 1 4.5
FEV 2,189| 2,646, 457 —-17.3 240 327 —-87| —26.6f 11.0/ 12.4, -1.4 115 146 =8| =22
HEhH % 21 25 -4 -16.0 12 22 -10] -45.5 57.1 88.0 -30.9 7 13 -6/ —46.2
A=A 92 118 -26/ —22.0 25 31 -6 —-19.4 27.2] 26.3 0.9 15 16 -1 -6.3
EEE RS 2,076 2,503 427 —17.1 203 274 -71] —-25.9 9.8/ 10.9] -1.1 93 117 -24| -20.5
FERAGE 4,259| 4,269 -10/ -0.2[ 3,096| 2,900 196 6.8 72.7 67.9 4.8] 1,853 1,877 =24 =18
% 104 93 11 11.8 92 118 -26/ —22.0 88.5 126.9 -38.4 8 4 41 100.0
Y AR 9 7 2 28.6 2 3 -1 -33.3| 22.2] 42.9 -20.7 1 -1/-100.0
Oo72<Y 3 4 -1 -25.0 3 3 — 100.0 0.0/ 100.0 2 2 —
EN) 6 4 2 50.0 33 4 29 725.0( 550.0/ 100.0 450.0 5 5 0 0.0
[EGIES 95 95 0 0.0 42 38 4/ 10.5] 44.2 40.0 4.2 28 33 -5 -15.2
IR HEE a0 10 17 -7 —41.2 2 3 -1 -33.3[ 20.0/ 17.6 2.4 2 2 0 0.0
HERbn 375 418 -43] —-10.3 263 132 131 99.2| 70.1 31.6/ 38.5 29 46 -17| -37.0
BTy A 117 119 -2 1.7 17 38 -21| -55.3| 14.5 31.9 -17.4 9 10 -1/ -10.0
H B TR RS 22 39 -17| -43.6 12 372, —360] -96.8] 54.5 953.8 -899.3 1 2 -1/ -50.0
fE b 109 87 22 25.3 36 46 -10] -21.7 33.0/ 52.9 -19.9 10 19 -9 -47.4
UEIRS 2,083 1,998 85 4.3] 1,962| 1,545 417 27.01 94.2/ 77.3 16.9] 1,333 1,300 33 2.5
Z D, 1,326/ 1,388 —-62| —4.5 632 601 31 5.2 47.7 43.3 4.4 426 455 -29 —6.4

3] He 30 831 710 121 17.0 361 397 -36/ —9.1| 43.4| 55.9 -12.5 267 228 39 17.1
FEHK 737 627 110 17.5 300 328 -28 8.5 40.7 52.3 -11.6 215 169 46 27.2
HEAE 45 35 10 28.6 29 21 8 38.1 64.4 60.0 4.4 31 20 11 55.0
1A1s 44 47 -3/ 6.4 29 47 -18] -38.3| 65.9 100.0] -34.1 18 35 -17| —48.6
15k 4 1 3 300.0 3 1 21 200.0f 75.00 100.00 -25.0 3 4 -1 -25.0
HT 1 1 — 0.0 —

JEL e 30 142 147 =B =34 137 126 11 8.7 96.5/ 85.7 10.8 111 107 4 3.7
Jif e 3 2 1 50.0 1 2 -1 -50.0f 33.3] 100.0 -66.7 5 13 -8 -61.5
FR VD 87 87 0 0.0 86 80 6 7.5] 98.9 92.0 6.9 63 57 6 10.5
AR AR 52 58 -6/ —10.3 50 44 6 13.6] 96.2 75.9 20.3 43 37 6  16.2

WOk L = o ] 2,022] 2,215 -193] 8.7 720 821/ -101| -12.3] 35.6] 37.1] -1.5 572 654 —82| —12.5
5 A Bl R A 246 304 -58] —19.1 175 244 -69 —28.3| 71.1 80.3 9.2 160 237 =77 -32.5
W BB 9 9 0 0.0 10 10 0 0.0 111.1] 111.1 0.0 10 14 -4 -28.6
N 54 63 -9 -14.3 53 61 -8 —13.1| 98.1 96.8 1.3 38 43 -5 -11.6
ok 9 15 -6/ —40.0 8 15 -7 —46.7| 88.9 100.0] —11.1 6 17 -11| —-64.7
FEREA 221 260 -39 -15.0 150 172 -22) —12.8] 67.9 66.2 1.7 103 122 -19| -15.6
AR 6 9 -3 —33.3 7 7 0 0.0 116.7, 77.8 38.9 15 6 9 150.0
W B 155 - A\ 5e B 11 7 4| 57.1 10 7 3 42.91 90.9 100.0, -9.1 14 5 9 180.0
P kit 1,315 1,398 -83 —-5.9 199 208 -9 4.3 15.1 14.9 0.2 129 121 8 6.6
Z D, 151 150 1 0.7 108 97 11 11.3] 71.5 64.7 6.8 97 89 8 9.0
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1~1281~12H| N B | = |1~12H |1~128| K4/
JH & L R B 320 450/ -130| —28.9 7.9 10.7 -2.8
T 11 19 -8 —42.1 6.5 12.8 -6.3
mOE OO U 8 17 -9/ -52.9 6.7 11.5. -4.8
X o= 30 6 13 =7 =538 6.5/ 14.9 -8.4
PN 1 1 — 4.0 0.0 4.0
TR 1 8 =1 =B1& 5.3| 24.2] -18.9
IRATRE 1 -1/-100.0 0.0 8.3 8.3
& aRds 5 -5/-100.0 0.0, 71.4 -71.4
a2l 1 2 -1/ =50.0 8.3 14.3 -6.0
ek 2 -21-100.0 0.0, 13.3 -13.3
SR PR 4 3 1 33.3] 14.3 14.3 0.0
L 2= A0 69 80 =i =138 7.5 8.2/ -0.7
Rz EfRES
AT 20 23 -3/ —-13.0 4.4 4.9 -0.5
GE EEBSE 32 46 -14] -30.4 9.3 11.00 -1.7
il 4 6 -2 -33.3 4.9 11.3 -6.4
2L 13 5 8 160.0f 38.2/ 13.5 24.7
5 % A0 164 221 =B =2B& 7.9 10.3] -2.4
BAGE 8 12 -4| -33.3 7.5 9.2| -1.7
ZexB 6 8 -2 —-25.0( 17.6/ 15.1 2.5
AIAS 0.0 0.0 0.0
JRAEX 0.0 0.0 0.0
& AR Y 0.0 0.0 0.0
FROREL
Pl
Fe T L 0.0 —
FHIRL 1 1 —| 14.3 0.0, 14.3
HEFRL 1 1 — 5.3 0.0 5.3
HRERL 1 -1/-100.0 0.0, 50.00 -50.0
AIERL 1 -1/-100.0 0.0 5.3 -5.3
ZOMUR AL 2 -2/-100.0 0.0 9.1 -9.1
Y B3 74 -21| —28.4| 46.1| 50.7, -4.6
HEhH % 3 -3/-100.0 0.0/ 23.1] -23.1
A=A 13 14 -1 7.1 86.7/ 87.5 0.8
EEE RS 40 57 -17) -29.8 43.0/ 48.7 5.7
FERAGE 103 135 =P =231 5.6 72| -1.6
% 0.0 0.0 0.0
JRE D 0.0 —
[05eY ) 0.0 —
g 2 -2/-100.0 0.0/ 40.0, -40.0
[EGIES 2 4 -2/ =50.0 7.1 12.1, -5.0
RIS a0 0.0 0.0 0.0
HERbn 1 2 -1/ =50.0 3.4 4.3, 0.9
B dm s 2 4 -2/ -50.0( 22.2/ 40.0 -17.8
H B TR RS 0.0 0.0 0.0
miFRLN 1 -1-100.0] 0.0, 5.3 -5.3
ThlE 72 90 -18] —-20.0 5.4 6.9 -1.5
Z DA 26 32 -6/ —18.8 6.1 7.0 -0.9
3] He 30 12 14 =2\ =43 4.5 6.1 -1.6
FEHK 12 13 -1 7.7 5.6 7.7 -2.1
FERE 0.0 0.0 0.0
tA1s 1 -1/-100.0 0.0 29 -2.9
15k 0.0 0.0 0.0
HiE
JE IS 30 10 9 1 11.1 9.0 8.4 0.6
JH 1R 0.0 0.0 0.0
ROV ED 5 6 -1 —-16.7 7.9 10.5 -2.6
IRV A 5 3 2 66.7] 11.6 8.1 3.5
| 3 30 = o 59 113 —54| -47.8] 10.3] 17.3] -7.0
5 A Bl R A 17 43 -26/ -60.5 10.6/ 18.1 -7.5
W BRI B 0.0 0.0 0.0
N 3 1 2 200.0 7.9 2.3 5.6
Kk 0.0 0.0 0.0
FEREA 17 39 -22| -56.4 16.5] 32.0 -15.5
pEis i e 0.0 0.0 0.0
W B 155 - A\ 5e B 0.0 0.0 0.0
P ki 8 11 -3 —27.3 6.2 9.1 -2.9
Z D 14 19 -5 —26.3[ 14. 21. —6.9
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1~12H 1~12H| # % F|1~120 1~128] 1 % % |1~1281~128 BAUM1~128 1~12H A B £ [1~128 1~120 AN B R

BN %] 11,181 11,726 545 -4.6| 5,808 6,104 296 -4.8] 51.9 52.1  -0.2| 4,036 4,206 -170, -4.0 320 450 -130| -28.9
I & o %] 1,503 1,772 269 —15.2 604 1,105 -501 -45.3] 40.2 62.4 —22.2 441 537 -96/ -17.9 29 39 -10 -25.6
R OH 745 737 8 1.1 326 386 -60 -15.5| 43.8 52.4 8.6 262 248 14 5.6 25 33 -8 —24.2
= 793 865 -72|  -8.3 435 461 -26  -5.6] 549 53.3 1.6 300 317 -17, 5.4 26 30 -4, -13.3
=] 855 811 44 5.4 312 359 -47  -13.1] 36.5 44.3 -7.8 247 278 -31| -11.2 17 20 -3/ -15.0
7 e M 884 858 26 3.0 326 346 20  -5.8] 36.9 40.3 3.4 235 264 -29 -11.0 8 52 -44| -84.6
7 e dk 324 405 -81| -20.0 215 174 41 23.6] 66.4 43.0 23.4 167 133 34 25.6 14 15 -1 6.7
%= 1A 381 398 17 -4.3 193 188 5 2.7 50.7  47.2 3.5 126 130 -4, -3.1 18 7 11 157.1
i H 505 440 65  14.8 372 207 165  79.7| 73.7  47.00 26.7 191 124 67  54.0 13 16 -3/ -18.8
H B 329 365 -36/  -9.9 327 211 116 55.0| 99.4 57.8 41.6 140 151 -11| -7.3 15 21 -6 —28.6
X 7 87 90 -3 -3.3 42 68 -26 -38.2| 48.3 75.6 -27.3 32 59| 27| -45.8 2 14 -12) -85.7
(L I8 88 57 31 54.4 50 29 21 72.4| 56.8 50.9 5.9 28 28 0 0.0 5 5 —

" 400 451 -51| -11.3 266 297 -31 -10.4| 66.5  65.9 0.6 198 206 -8 -39 17 13 4 30.8

Jis 305 287 18 6.3 170 128 42 32.8] 55.7 446 11.1 119 98 21 21.4 5 7 -2 -28.6
AN £ I = 89 72 17 23.6 65 51 14 275 73.0 708 2.2 49 43 6 14.0 2 2 0 0.0
W A B 686 695 -9 -1.3 350 291 59, 20.3] 51.0 41.9 9.1 231 212 19 9.0 9 16 -7 -43.8
7y JE 75 78 -3 -3.8 41 47 -6 -12.8] 54.7  60.3 5.6 32 39 -7 -17.9 1 3 -2 —66.7
Bl | 1,156 1,225 69 -5.6 594 571 23 4.0l 51.4  46.6 4.8 415 450 35 -7.8 42 52 -10/ -19.2
N T ] 398 382 16 4.2 157 169 -12.  -7.1| 39.4 442 438 119 123 -4, -3.3 11 15 -4 -26.7
O T 416 512 -96/ -18.8 288 269 19 7.1 69.2 525  16.7 182 209 27 -12.9 20 35 -15| -42.9
)22 H 427 401 26 6.5 213 228 -15  -6.6] 499 569 7.0 159 173 -14  -8.1 13 26/ -13| -50.0
= Ji 340 401 -61 -15.2 163 232 -69  -29.7| 479 579 -10.0 134 177 -43| -24.3 10 13 -3 -23.1
¥ i 109 111 -2/ -1.8 85 76 9 11.8] 78.0/ 68.5 9.5 73 66 7 10.6 3 5 -2| —40.0
= /e 149 142 7 4.9 96 80 16 20.0 64.4 56.3 8.1 71 59 12 20.3 9 6 3 50.0
JE2 i 60 81 -211 -25.9 70 62 8 12.9| 116.7| 76.5| 40.2 54 46 8 174 5 8 -3 -37.5
7= E H 47 53 -6 -11.3 31 31 0 0.0 66.0 58.5 7.5 20 22 -2/ 9.1
it i 30 37 -7, -18.9 17 38 -21 -55.3| 56.7 102.7 -46.0 11 14 -3 -21.4 1 2 -1/ -50.0
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